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b Calculate the fol.owing insegrals. You must show your work. These integrals must

be integrated analytically. If you just give the result from your calculator, you
will get zero credit.
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3. Calculate the following integrals. You must show your work. These integrals must

be integrated analytically. If you just give the result from your calculator, you
will get zero credit.
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3. Calculate the following integrals. You must show your work. These integrals
must be integrated analytically. For definite integrals give exact answers— no

calculator approximations. If you just give the result from your calculator, you
will get zero credit.
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Lﬁ]‘ Solve the following differential equation:

L= 0, y(1) = ~4 (Solve for y).
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